Anexo 3. Arboles de decision

Arbol de decisién para los hombres

Weight <= 1210
gini = 0.5
samples = 100.0%
value =[05, 0.5]
class = No Satisfecho

Item_Chaquetas <= 0.5
gini = 0.494
samples = B7.3%
value = [0.443, 0.557]
class = Satisfecho
Item_Trajes Hombre <= 0.5
g'ni =0.484
samples = 76.1%
value = [0.41, 0.59]
class = Satisfecho
tem_Pantalonetas <= 0.5 e
qini = 0.477 et
samples = 68.6% R——
value = [0.393, 0.607] value = [0.558, 0.442]

class = Satisfecho class = No Satisfecho
Height <= 168.5
samples gini = 0.485
0 samples = 2.9%
R .
Weight <=555 / S Category HOMBRE COLECCIA"N FREEDOM <= 0.5
qini = 0.466

gini = 0.5 5

samples = 7.7% samples = 57.9%

value = [0.504, 0.496] value = [0.369, 0.631]
class = No Satisfecho class = Satisfecho

T~ w25

gini=05
samples = 5.0%
value = [0.485, 0.515]
class = Satisfecho

gini = 0.499
samples = 7.4%
value = [0.527, 0.473)
class = No Satisfecho

fM<=25 .
fit T=0473
e 8 mﬁ--m n:'pasﬂsss
i value = [0.357, 0.643] value = [0.615, 0.385)
g s e class = Satisfecho = No Satisfecho
=0453 gini=05
£h= B.5% samples = 5.7%

=[0.347, 0.653] value = [0.512, 0.483]
class = Satisfecho class = No Satisfecho




Arbol de decisién para las mujeres

Fit<=35
gini = 0.5
samples = 100.0%
value = [0.5, 0.5]

/ class = No Satisfecho
Item_Shorts Mujer <= 0.5

gini = 0.475
samples = 59.2%
value = [0.388, 0.612]
class = Satisfecho

Height <= 162.0
gini = 0.496
samples = 11.4%
value = [0.545, 0.455]
class = No Satisfecho

Height <= 167.5

Fit<=2.5

gini = 0.481 gini = 0.472
samples = 19.6% samples = 10.1%
— - value = [0.664, 0.336]
value = [0.402, 0.598] value = [0.618, 0.382] \ — No Satisfect

class = Satisfecho
Height <= 169.5
gini = 0.498
samples = 11.1%
value = [0.533, 0.467]
class = No Satisfecho

gini = 0.473
samples = 9.6%
value = [0.615, 0.385]
class = No Satisfecho

class = No Satisfecho




